Jumping1Small Length 154m SCT 46sec MCT 62sec
NE {2 R4 AhiE BAL | BALBR| KB | B | BKERS
1 [ELrszx DIILTA 39.5 0 0 5 5
Jumping 1 Medium Length 154 m SCT 36sec MCT 62 sec
g 32 R FRiE BAL | FALER| KB | B | RERS
1 Fvo4— TILTA 30.59 0 0 0 0
2 \IBERA )T+ DQ DQ DQ | DQ DQ
3 [Fyia Moo — DQ DQ DQ | DQ DQ
DQ (&% LT 4 DQ DQ DQ | DQ DQ




Jumping 1 Large Length 154 m SCT 40 sec MCT 62 sec

NI 32 R4 eniE AL |FALFR| KB | 1Bt | BERR
1 |73 R—F—a1)— 34.28 0 0 0 0
2 |DIFY A—Ealr 40.84 0.84 0 0 0.84
3 |LY R—4—al)— 30.35 0 5 0 5
4 K R—4—2a1)— 31.55 0 5 0 5
5 KFEF R—4—al)— 31.85 0 5 0 5
6 [E—& R—&—a1)— 35.12 0 0 5 5
7 |®¥ TYIR 35.15 0 5 0 5
8 |BkFE SvIR 49.76 9.76 0 0 9.76
9 [X R—4—al)— 32.18 0 5 5 10
10 (U7 L R—4—a1)— 33.77 0 5 5 10
11 |78JLs8)L R—A—21)— 34.88 0 5 5 10
12 [(hbhk R—4—a1)— 39.38 0 10 0 10
DQ |fRZBh R—A—al)— DQ DQ DQ | DQ DQ
DQ |E+wa R—4—2a1)— DQ DQ DQ | DQ DQ
DQ [Sirius R—A—21)— DQ DQ DQ | DQ DQ
DQ [zooma R—F—a1)— DQ DQ DQ | DQ DQ
DQ |[=—7F R—F—al)— DQ DQ DQ | DQ DQ
DQ [&K5 R—4—2a1)— DQ DQ DQ | DQ DQ
DQ |[G7EE R—F—a1)— DQ DQ DQ | DQ DQ




Jumping2 Small Length 154m SCT 46sec MCT 62sec
NE {2 R4 AhiE BAL | BALBR| KB | B | BKERS
1 [ELrszx DIILTA 39.5 0 0 5 5
Jumping 2 Medium Length 154 m SCT 36sec MCT 62 sec
g 32 R FRiE BAL | FALER| KB | B | RERS
1 Fvo4— TILTA 30.59 0 0 0 0
2 \IBERA )T+ DQ DQ DQ | DQ DQ
3 [Fyia Moo — DQ DQ DQ | DQ DQ
DQ (&% LT 4 DQ DQ DQ | DQ DQ




Jumping 2 Large Length 167m SCT 37sec MCT 67 sec

NI 32 R4 eniE BAL | BALBR| R | B | BRERA
1 [TAB& AR—A—2a!)— 31.57 0 0 0 0
2 |Oops! R—4—al)— 36.47 0 0 0 0
3 (X R—4—al)— 37.4 0.4 5 0 5.4
4 [FELVEWL R—4—2a1)— 40.43 3.43 0 5 8.43
5 RyFr— ARIF—RT—K)L| 59.62 22.62 0 0 22.62
6 |DITY A—Ealr 58.58 21.58 5 5 31.58
7 | Rq—F R—4—al)— 57.21 20.21 15 5 40.21
DQ [#AER MEX DQ DQ DQ | DQ DQ
DQ |BRENDA AL T/N—K DQ DQ DQ | DQ DQ
DQ [PE R—4—2a1)— DQ DQ DQ | DQ DQ
DQ [Maria R—A—21)— DQ DQ DQ | DQ DQ
DQ [Sirius R—4—al)— DQ DQ DQ | DQ DQ
pDQ [k R—F—a1)— DQ DQ DQ | DQ DQ
DQ [Pal+« R—4—2a1)— DQ DQ DQ | DQ DQ
DQ |E¥H SYIR DQ DQ DQ | DQ DQ




Jumping3Small Length 179m SCT 45sec MCT 72sec

NI 5z R4 mhiE BAL | FALFR| K| 1B | BERA
1 PY=E SYIR 38.51 0 0 0 0

2 )L ATy — 43.46 0 0 0 0
DQ |Z5C fMZT—FIL DQ DQ DQ | DQ DQ
DQ | T4 DQ DQ DQ | DQ DQ
DQ [¥rT4-33 [MMT—FIL DQ DQ DQ | DQ DQ
Jumping 3 Medium Length 179m SCT 42sec MCT 72sec
& 152 R cnig BAL | BALFR| K | B | BERA
1 [feE TTILTA 35.93 0 0 0 0
2 |Luce S=FaTFIT—KRIL| 37.29 0 0 0 0
DQ (M H TTILTA DQ DQ bQ | DQ DQ
DQ NJL vI)LTA DQ DQ DQ | DQ DQ
pQ [7X D | g DQ DQ DQ | DQ DQ




Jumping 3 Large Length 179m SCT 39sec MCT 72sec

NI 32 R4 eniE AL |FALER| KRB | 1Bifg | BERR
1 LAY AR—A—2a!)— 33.68 0 0 0 0
2 |[I\oE R—4—al)— 34.11 0 0 0 0
3 [FH R—4—al)— 36.3 0 0 0 0
4 ¥ R—&—a1)— 37.48 0 0 0 0
5 |[Evky AR—A—2a!)— 40.19 1.19 0 5 6.19
6 [723>3 AL T/N\—K 42.62 3.62 0 10 13.62
7 |7 AR—A—2a!)— 38.95 0 20 0 20




Jumping 3 Large Length 179m SCT 39sec MCT 72sec

NI 32 R4 eniE BAL | BALBR| R | B | BRERA
DQ |/\ILAY R—4—2a1)— DQ DQ DQ | DQ DQ
pQ |R—/ R—4—2a1)— DQ DQ DQ | DQ DQ
DQ |[/\T4 AR—F—2a1)— DQ DQ pQ | bQ DQ
DQ [TV R—4—al)— DQ DQ DQ | DQ DQ
pQ [PvF+T AR—F—2a1)— DQ DQ DQ | bQ DQ
DQ [HZEY R—4—2a1)— DQ DQ DQ | DQ DQ
pQ VU7 AR—F—2a1)— DQ DQ pQ | bQ DQ
DQ |[F¥i— R—4—2a1)— DQ DQ DQ | DQ DQ
DQ [7—R R—4—2a!)— DQ DQ DQ | DQ DQ
DQ |# JyR=—— DQ DQ DQ | DQ DQ
DQ |J#% R—F—a1)— DQ DQ DQ | DQ DQ
DQ |RTRYY R—4—2a1)— DQ DQ DQ | DQ DQ
DQ [F55 R—A—a1)— DQ DQ DQ | DQ DQ
DQ |/L—H R—4—2a1)— DQ DQ DQ | DQ DQ
DQ [0OPS! R—A—21)— DQ DQ DQ | DQ DQ




Agility 1 Small Length 155m  SCT --- MCT 78 sec
JIE {3z PN fniE AL (FALBR| R | B | BBER A
DQ |#H5B v TvtIL DQ DQ DQ | DQ DQ
Agility 1 Medium Length 155m SCT 50sec MCT 78sec
& {3z PN fniE AL | FALER| KB | Bt | BRERA
1 [Fyia M aFryH— 42.89 0 0 0 0
2 |53 )T+ 46.79 0 0 0 0
3 |Luce S=FaF7T—K)L| 33.98 0 5 0 5
4 FvIq— TT)LTA 35.81 0 5 0 5




Agility 1 Large Length 155m SCT 37sec MCT 78sec

NI 32 R4 eniE AL |FALER| KRB | 1Bifg | BERR
N VAVIWAYI R—F—a1)— 32.03 0 0 0 0
2 X R—&—2a1)— 32.15 0 0 0 0
3 |[CTABK AR—A—2a!)— 28.92 0 5 0 5
4 |E¥y3 R—4—al)— 30.77 0 5 0 5
5 KFEF R—4—al)— 32.78 0 5 0 5
6 | SvOR 50.54 13.54 0 0 13.54
7 |zooma AR—A—2a!)— 33.71 0 10 5 15
8 [E—4 R—4—2a1)— 46.89 9.89 5 0 14.89
9 Mk R—4—al)— 33.84 0 20 0 20
10 RyF— RARAUE—RT—K)L| 62.68 25.68 0 0 25.68
11 |[Ih&F R—A—21)— 59.81 22.81 15 10 47.81
DQ |E¥H SvUR DQ DQ DQ | DQ DQ
DQ |[=—7F R—4—a1)— DQ DQ DQ | DQ DQ
DQ |LY R—4—2a1)— DQ DQ DQ | DQ DQ
pQ |7 L R—4—2a!)— DQ DQ DQ | DQ DQ
DQ |ffZ B R—4—a1)— DQ DQ DQ | DQ DQ
DQ [Sirius R—A—21)— DQ DQ DQ | DQ DQ




Agility 2 Small Length 179 m SCT 48sec MCT 90sec
JIE {3z e fniE AL (FALBR| R | B | BBER A
1 |[CHH IILTA 41.39 0 0 0 0
2 BB Ty oyt)L | 45.59 0 5 5 10
3 EFIL Ty oyt)L |  64.46 16.46 0 0 16.46
Agility 2 Medium Length 179m SCT 55sec MCT 90sec
[[=Rivd PN fniE AL | BALBR| KB | Bt | BREBA
1 |Paqdt=A~D |7+« 47.31 0 0 0 0
2 [Fyia M aFH— 48.29 0 0 0 0
3 |35 o)L T4 52.41 0 0 0 0
DQ |FY7iY TILTA DQ DQ DQ | DQ DQ
DQ |Luce S=FaF7T—KIL DQ DQ DQ | DQ DQ




Agility 2 Large Length 179m SCT 45sec MCT 90sec

NI 32 R4 eniE BAL | FALFR| KB | 1Bt | &R
1 %R R—4—al)— 38.4 0 0 0 0

2 |[ay R—4—al)— 43.1 0 5 0 5

3 |- NZNT AT 95 45.44 0.44 5 0 5.44
4 |BRENDA AL T/N\—K 50.67 5.67 0 0 5.67
5 [Maria AR—A—2a!)— 48.11 3.11 5 0 8.11
6 [E¥va R—4—al)— 37.22 0 10 0 10

7 |EE AR—A—2a!)— 41.51 0 10 0 10

8 = R—4—2a1)— 45.01 0.01 10 0 10.01
9 [Pal«q R—4—01)— 46.87 1.87 5 5 11.87
10 [Sirius R—4—a1)— 55.94 10.94 10 0 20.94
11 RNyFx— ARIF—RT—K)L| 77.15 32.15 0 0 32.15
DQ [FELVEL R—4—2a1)— DQ DQ DQ | DQ DQ
DQ |[=—7F R—4—a1)— DQ DQ DQ | DQ DQ
DQ |E¥H SvUR DQ DQ DQ | DQ DQ
DQ [\T4 R—4—2a1)— DQ DQ DQ | DQ DQ
DQ |R1—k R—4—2a1)— DQ DQ DQ | DQ DQ
DQ ([zooma R—A—2l)— DQ DQ DQ | DQ DQ




Agility 3 Small Length 179 m SCT 57sec MCT 90sec

NI 5z R4 mhiE RAL | FALBR| KK | B | BEBR
1 PrrT«-a3 MT—FIL 49.41 0 0 0 0
DQ |24 fMT—KIL DQ DQ DQ | DQ DQ
DQ PYZE 2YOR DQ DQ DQ | DQ DQ
DQ )L™ Ay H— DQ DQ DQ DQ DQ
DQ [bb v TvEIL DQ DQ DQ | DQ DQ
DQ |CHH T4 DQ DQ DQ | DQ DQ

Agility 3 Medium Length 179m SCT 54sec MCT 90sec

& 152 R cnig BAL | BALFR| K | B | BERA
1 [feE T ILTA 46.82 0 0 0 0
2 |hTH xILTA 50.67 0 0 0 0
DQ [7X TTILTA DQ DQ DQ | DQ DQ
DQ |Luce S=FaT7T—FIL DQ DQ DQ | DQ DQ




Agility 3 Large Length 179m SCT 47sec MCT 90sec

fiL pNE eniE BAL | BALBR| R | B | BRERA
1 |/\vE R—4—al)— 40.67 0 0 0 0

2 |L—A R—4—2a1)— 40.73 0 5 0 5

3 [PFvi— AR—A—2a!)— 42.82 0 5 0 5
4 |Tw R—4—a1)— 49.09 2.09 0 5 7.09
5 [RiRwY R—4—a1)— 41.51 0 10 0 10
6 |[HHA R—4—2a1)— 44.15 0 10 0 10
7 |7 AR—A—2a!)— 46.92 0 10 0 10
8 [FvoTa4— |[R—F—a— 49.95 2.95 5 5 12.95
9 [7—X R—4—al)— 52.19 5.19 5 10 20.19




Agility 3 Large Length 179 m SCT 47 sec MCT 90 sec

g £z pNE eniE AL |FALER| KRB | 1Bifg | BERR
DQ |Ih& R—A—al)— DQ DQ DQ DQ DQ
DQ LAY R—4—2a1)— DQ DQ DQ | DQ DQ
DQ [HZEYV AR—A—2a!)— DQ DQ DQ DQ DQ
DQ [E55 R—4—2a1)— DQ DQ DQ | DQ DQ
pQ VU7 AR—F—2a1)— DQ DQ DQ | bQ DQ
pQ (75323 AL T/IN—F DQ DQ DQ | DQ DQ
DQ | J)a—_— DQ DQ DQ DQ DQ
DQ [\T4 R—4—2a1)— DQ DQ DQ | DQ DQ
DQ |—% NZANTA T Rus DQ DQ DQ DQ DQ
DQ |R¥E R—4—2a1)— DQ DQ DQ | DQ DQ
DQ |J#% R—4—2a!)— DQ DQ DQ | DQ DQ
DQ ¥ T T R—4—2a1)— DQ DQ DQ | DQ DQ
DQ [0OPS! R—A—21)— DQ DQ DQ | DQ DQ




